


 

 

 

  

 

 

 >L ?kf ufpFkflnsf ufpFsfo{kflnsfsf] sfof{no4f/f æo'jfx?nfO{ v]ns'btkm{ cfslif{t u/f}+ :j:Yo / ;d'Ggt ;dfhsf] lgdf{0f u/f}Æ eGg] d"n pb\3f]ifsf 

;fy :yfgLo tx :yfkgf lbj;sf] pknIodf u08sL k|b]z cGt{utsf :yfgLo tx ljr æ cWoIf skÆ v'Nnf k'?if elnan k|ltof]lutf lgDg ldlt, ;do, / 

:yfgdf cfof]hgf ug{ uO/x]sf] x'Fbf ;xefuLtfsf] nflu xflb{s cg'/f]w ub{5f}+ . 

 

 

 

 

  

 

v]nsf lgodx? M 

 l6d btf{ ldlt @)&%÷!!÷)! b]lv @)&%÷!!÷@) ut] leq ul/;Sg' kg]{5 . 

 cfof]hsn] tf]s]sf] ;dodf v]nf8Lx? pkl:yt eO ;Sg'kg]{5 .                                                 

  cGoyf ljkIfL l6dnfO{ :jt M ljhoL 3f]if0ff ul/g] 5 .                                                            

  v]nf8Lx?sf] xsdf v]nf8L btf{ kmf/ddf kmf]6f] 6fF; u/L ;DaGwLt lgsfon] k|dfl0ft u/]sf] kmf/d aemfpg' kg]{5 .     

  v]n FIVB  tyf g]kfn elnan ;+3sf] lgodfg';f/ v]nfO{g]5 . 

  v]n gscfp6sf cfwf/df v]nfO{g]5 . 

  v]ndf ph'/L -kf]6f;_ lbg'k/]df ?=%))).– z'Ns nfUg]5 .                                     l6d btf{ z"Ns 

  v]nf8L ;+Vof l6d d]g]h/, l6d sf]r ;xlt hDdf !$ hgf ;Dd x'g]5 .                           ?=%))).– 

  v]ndf s'g} ljjfb  cfPdf cfof]hssf] lg0f{o g} clGtd lg0f{o x'g]5 .                                              

 

 

  

                                                                                               

             ;"rgf Û                       ;"rgf Û Û                      ;"rgf Û Û Û 

 

                       

k'/:sf/x? M– 

k|yd k'/:sf/ M–  ?=!,)),))).– 6«kmL d]8n / k|df0fkq . 

l4lto k'/:sf/ M– ?=&),))).– 6«kmL d]8n / k|df0fkq . 

t[lto k'/:sf/ M– ?= $),))).– 6«kmL d]8n / k|df0fkq . 

;fGTjgf k'/:sf/ M– ?= @),))).– k|df0fkq . 

 

sfo{qmd M– 

ldlt M–@)&% kmfu'g @$ b]lv @& ut] ;Dd 

:yfg M– jg]{kf]v/L v]nd}bfg ?kf – ^ 

;do M– ljxfg *M)) ah] b]lv 

;Dks{sf nflu M–        (*%^)*$))^ -gf/fo0f u'?Ë j8fWoIf j8f g+=^_                         

             (*%^)*$))! -lbks s'df/ cfn] j8fWoIf j8f g+= !_                        

                    (*$^#*#&&) -czf]s kl/of/ ;lrjfno ;lra_                                                                                               

                    )^!–%)^@))  -?kf ufpFkflnsfsf] sfof{no_ 

          

cfof]hs 

 

?kf ufpFkflnsf 

?kfsf]6 sf:sL 

a]:6 :kfOs/ M– ?=#))).– 

a]:6 ;e{/ M–    ?=#))).– 

a]:6 Ans/ M–   ?= #))).– 

a]:6 ;]6/ M–    ?= #))).– 

a]:6 lna|f] M–    ?= #))).– 

a]:6 Kn]o/ M–    ?= %))).– -! yfg 6«ofs ;'6 ;]6_ 

cg'zfl;t l6d M– dfofsf] lrgf] . 

;fydf ljljw emfFsL k|bz{g ;fy} Vofltk|fKt :yfgLo tyf /fli6«o snfsf/x?sf] a]hf]8 ;fF:s[lts k|:t'tLx? 



v]nf8L btf{ kmf/d M– 

uf=kf=÷g=kf=÷d=g=kf=sf] gfd M– 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

l6d Dofg]h/ M– 

l6d sf]r M–  

    

;DaGwLt uf=kf=÷g=kf=÷d=g=kf=sf] 5fk / b:tvtM– 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

– 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

– 

 

 

 

 
 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 



 

v]nf8L btf{ kmf/d M– 

?kf ufpFkflnsf j8f g+= M– 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

l6d Dofg]h/ M– 

l6d sf]r M–  

;DaGwLt j8f sf] 5fk / b:tvtM– 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

– 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

– 

 

 

 

 
 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 

 

 

 

 

gfd M– 

7]ufgf M– 

gf=k|=g+=M– 

 



 


